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Pemnre ypasnenus (422—425).

a) Vx+1J/x+6 =6;

x+6
B) Jfé = \/3x+2,

a) 5+ 3x3 =3

8) V18 Yx 110 - 4

a) Vx-3=1+Jx—4;
8) 2+J10-x =22 x;
a) Vx-3-6=x-3;
8) Vx-5-30-Jx-5;

x+1
6) — =Jx-1;
véx-1

r) J;di’—x =2x.

6) ‘/md—x:&

r) x— x2-5=1
6) Jx+2-/x-6=2;
r) J1-2x-83=4/16+x.
6) Yx+1+2¥Vx+1=3;
1 323+ -3=1.




[image: image2.png]Pemure ypaBnenue:

a) Vx’ +x -8 =+1-2x;
6) V2x* +7 =x* - 4;
B) ¥* +3x—Vx* +8x -2=0;

) Vr+2+Jx-3=3x+4.





[image: image3.png]Pewure ypaBHenue:

a) Vx-2+2Jx+6 =4

6) V3x +12 —Jx +1 = V4x +13;

B) 3x° +15x+2Vx? +5x+1=2;

r) Yx-10+3¥x-17 = 3.




